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1 &l dlaJl Jlxo i}

State the domain and range for the Y =4% 4+ 3 Aol gaally Jlaal) o

1:43

function y = 4* 4 3.

yly =3} = w2y {‘um_d\ Jum‘m@@} = Jladd

Domain = {All real numbers}, Range = {y|y < 3}

1y > 3} = sl {Lasiad 0 poan} = Jiad

Domain = {All real numbers}, Range = {y|y > 3}

{yly <=3} = sxlly {mn_-.h gu;-,‘ym@w‘l} = Jlad

Domain = {All real numbers}, Range = {y|y < —3}

{‘Lm_\b.“ m;’m@{;} =iy {y|y > 3} = Jlaall

Domain = {y|y > 3}, Range = {All real numbers}
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Q Preview Question

| BB -1

1 dys il Aol jueoll o
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Find the value of the discriminant Lanuil) Ablaall jraal) Lod angf
2:57
for the quadratic equation 2xP—6x+9=0

2x2—6x+9=0.

. —36 o
b —18 o
< 36 o
4 18 0]
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Q Preview Question

= B 1-1 = [ NolLimit
1,32l dsleo Jo o
Solve the equation x — 3 —2 = 4. Wx—3 -2 =4 L s o
a x=15 O
b x=33 @)
¢ x=9 O
o x=39 @)
o
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Q Preview Question

E‘ B -1 0 [J NolLimit
1gdsuall gilbiedl Suliall o
Find the length of LP. LP (L sl .
- 7x+1
M
10x—5 N
P

a. LP:9.5 O

b LP =15 @)

.« LP=25 @)

¢ LP=2 @)
i)
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Q Preview Question

E‘ QQE1_1[SMMQ No Limit

1 cuslBoll gbdll i) o
Find the vertex for the function Ly = 7x? — 28x + 14 Al LJ aag
y=7x* —28x + 14.

2 (=2,-14) @)

b (2,—14) @)

¢ (-2,14) @)

¢ (2,14) @)

o
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Q Preview Question

B 1-1

1 VI dluJI i)
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The ordered pairs dgall z 1Y)
(_3, 0. 25)! (_2! 0. 5), (_1, 1), (0, 2) (_3, 0. 25)! (—2, 0. 5)! (_1, 1)! (OJ 2)
represent: i

aga.._uﬁ Ay

a quadratic function

anli A

a constant function

dadad A\

a linear function

Loud AN

an exponential function
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Q Preview Question

B 1-1

1 dyd] dileall J> o

[ No Limit

. 2
Solve the equation — = —.

x+1 x x+1 x

a x=2 O
1

b ox=— o
*=32
1

- _= o
¢ X 2

d x=-2 @)

i
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Q Preview Question

‘ ﬁﬁ@1—1lsmﬁd

1 oSyall sasll by o

[ No Limit

] . 5 5 )
Simplify T s bl .

a 2+4+i O

1
b. ——1 O

2
¢ 2—1i o

1
d —+1i o

2 +1i
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Q Preview Question

1 wiw . D ....d.}:w&

a. AED 145
b. AED 78

« AED931
d. AED 128

B -1 wm

The prize for a radio station contest
begins with a AED 100 gift card.
once a day, a hame is announced.
The person has 15 minutes to call
or the prize is postponed to the
next day and its value increases

by 2.5%. How much will the gift
card be worth, to the nearest
integer, if nobody wins after

10 days?

0%

allay Loo)ly) cllasal) o1a) diilsa Jilga fas
o cpss JS b e AAED 100 dasis Ll
ol 4883 15 addl) alal L 0 oY)
2.5% Ay 13ig A agall Bilal) Jals
e 3 o Lsgl il dad i S
€alil 10 23 aaf 52 2103

[ No Limit
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Q Preview Question

= B&E 1-1 = [d NoLmit
1 4Vl dglial J> i)
Solve the inequality (%)Zd_z < 814+4, .(%)Zd_z < 819+% dilind) Ja |
» {d|d < -1} @)
b {d|d <11} o
¢ {d|d = -2.5} o
o {ddz-1) o
i)
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Q Preview Question

— A — ..
— E¢E1—1ls"bmitlmNoL|mlt
1 duwaidy ddlile dg3> Sl o
Find a, for the sequence in which Gua Lllsal) L& @y cagl
- 3:56
a, = 1104 and a,, = 4a,, 1 + 16. .a, =4a,_1+16 sa, =1104
2 ay =12 @)
b ap = 64 o
¢ a; =256 o
4 ap =272 @)
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Q Preview Question

| B 1-1
1 JolSJI gyy0l o

[ No Limit

Find the value of ¢ that makes agaal) LA Jaad ) ¢ dasd aagl
= 2:55

x? — 22x + ¢ a perfect square SLalS g % — 22x + ¢
trinomial.

a 121 @)

b 11 @)

c —121 @)

d 44 @)
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Q Preview Question
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Write a quadratic equation in pladiods Lol disalls duwa 5 dlales L)
‘ 2:50
standard form using the roots .5 35— 8 jghall
-8 and 5.
a x24+3x—40=0 o
b x%+3x+40=0 @)
¢ x¥2—-3x—-40=0 o
d x2—3x+40=0 @)
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Q Preview Question

| B 1-1 o [ NolLimit
1 dusy il Al O\ g )

Which is the graph of the function Al Skl Jhal s o Laa o
= = = 1:45
y=-3x*+1? fy=—-3x%+1

n
i o
iy
A
Jae A :
4
A {74
V. ;
o) X
A 174
A/
ANV o
“T [0} | |x
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Q Preview Question

1 il panyll go Lol sl

a —3,1
b —4

< 1

d =3

Use the graph to determine the

30@1—“5"“1“1

solution (solutions) of the equation

f@) = 0.

0%

.0/2

4
2

2
-2
\/

4X

[ No Limit

Wslaall (dsla) Ja waal Sl Jiadl ardis)

fx) =0

i
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Q Preview Question
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‘ ﬁﬁ@1—1lsmﬁd

1 d&,),Sil dsuall o

Write a recursive formula for the A Jias AN dallsiall A )),S5 daua (i)
- - 3:53
sequence that represents the HJSEN & el

number of squares in the figure.

] 1

] [ ]

[

(I

a ay=1l,a,=4a, {+1,n=2 @)
b ay=1a,=a, 1+4n=2 @)
c ag=1a,=2a, 1—-5n=>2 @)
d ar=1,a,=6a,_1—1,n=2 O
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Q Preview Question
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1 uSall juail o
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Identify the inverse variation that is il Jiaall el jaal) sds

1:57

graphed.

40

60 -40 ] EJT
a y=-30x O
b y=30x @)
< xy=30 @)
d xy=-30 o
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Q Preview Question

= | BOE1-1

oyl bghs o

[ No Limit

==Y

Identify the vertical asymptote of the .y = il — 2 Al ol ol Jad sas o
xX— - E
. 3
function y = - 2

a x=-2 o
b y=-2 O
c x=1 o
d y=1 @)
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Q Preview Question

— A _ . .
— EQ@%HMIQNOLWW
1 Suliall Olelas)l o
If P is the incenter of AXYZ, find 29l AXYZ 1 GBI el A Pl Y
msLZP. msLZP
X
K
&,
P
L 27ﬂ Y
J
12
Z
2 32 (@)
b 27 (@)
< 58 (@)
4 31 O
o
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Q Preview Question

E‘ B&E 1-10 [J NolLimit
1 Olouwgioll LSV dnd] o
In AABC, Q is the centroid and Gliall 458,00 dlail) & Q AABC 4 .
FC=15. Find the length of QC. .QC sl aagf .FC=15
B
F ‘b D
A £ C
a 5 o
b 10 @)
<« 3 o)
d 9 o
o
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